Accounting Questions: 1- Both companies include a note to the financial statements explaining the accounting policy for advertising. How do the policies differ, if at all? 2- Compute each company’s total asset turnover ratio (rounded to two decimal places) for the three years reported. (You will need to use Item 6 in each company’s 10-K to answer this question.) a. What do your results suggest to you about each company over time and in comparison to each other? b. Compare each company’s total asset turnover ratio for the most recent year to the industry average total asset turnover ratio in the Industry Ratio Report (Appendix D). Were these two companies performing better or worse than the average company in the industry?
